ASSEMBLY INSTRUCTIONS

COM TOSCANA 5PC RATTAN LOUNGE DINING SET(122359,122360)




Do not fully tighten bolts until assembly is complete.

A g SOFA BACKREST| 1PC @ SOFA ARMREST| 2PCS
M6*40
C Q SOFASEAT | 1PC =9 | BoLtwasHer | O7CS
| M6*35
E| o0 BOLTWASHER | 8PCS
G| 1] | ALLENWRENCH| 1 pC




Do not fully tighten bolts until assembly is complete.

A g CHAIR BACKREST| ,, 5o Q CHAIR ARMREST| 4PCS
CHAIR SEAT M6740 8 PCS
C @ 2 PCS @)ﬂ"@ BOLT/WASHER
M6*35
E 16PCS
)= BOLT/WASHER
G ALLEN WRENCH| 1PC




Do not fully tighten bolts until assembly is complete.

M| = [SEATPANEL | pg | | % Leg oPCS

CONNEVTION
———
BAR irc |G ; ALLEN WRENCH | 1 pC

M6x35mm

o) M6x20mm
O BOLT/WASHER | 4PCS

N
E| o0 BOLT/WASHER | 4PCS
O

Step1
Step2
XN | /
(f@?%;;xzo:w?n
Step3

@ﬂ;\{;j




Do not fully tighten bolts until assembly is complete.

A % TABLELEG | 2PCS / TABLE LINKER | 2 PCS
C TABLETOP | 1pc 9 MEx20 4PCS
Q- BOLT/WASHER
E % ALLEN WRENCH| 1 pc @ TABLE GLASS |1 PC
@ M6X30
G| o= BOLT/WASHER | 4PCS

Step2




